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QUESTION 1

Which three metrics are commonly used to evaluate garbage collector performance? (Choose three.)
A. Throughput

B. Pause time

C. Method area

D. Native threads

E. Heap size

Correct Answer: ABE

http://www.oracle.com/technetwork/java/javase/tech/memorymanagement-whitepaper-1- 150020.pdf(page 5,
performance metrics)

QUESTION 2

Which three packages are available in the JRockit VM? (Choose three.)
A. java.io.*

B. java.util.*

C. java.swing.*

D. java.sql.*

E. java.awt.*

Correct Answer:. ABE

QUESTION 3

Your application is configured to use Service Guardian with default settings to protect against stuck service threads. The
application runs a set of EntryProcessors to perform various types of calculations. These calculations can take a few

milliseconds, but occasionally take up to 30 minutes to process.

Which statement is true?

A. The Service Guardian willprotect all of the applications EntryProcessor processes withoutdetecting any as stuck.

B. The Service Guardian must be disabled for these longer EntryProcessors.
C. The Service Guardian does not protect threads running user code like EntryProcessors.

D. The EntryProcessor must issue manual heartbeats to the Service Guardian or risk being killed.
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Correct Answer: B

QUESTION 4

What three components of WLS can be managed by the WLS Management Pack EE?

A. Applications Deployments
B. SOA Composites

C. WLS Domains

D. WLS Managed Servers
E. Oracle ESB

Correct Answer. ABC

QUESTION 5

Consider the following code:

NamedCache namedCache = CacheFactory.getCache
Stock stock = (Stock) namedCache.get (“budgies”)

stock.increment (1) ;
namedCache .put (“budgies”, stock);

{(“stock")

If the initial stock amount was 15, and 5 different clients (in different JVMs) attempted to execute the same code

simultaneously, what would be the resulting level of stock?

A. 20, because Coherence does implicit locking

B. 15, because a concurrency control exception will be thrown
C. 16, because of the lack of concurrency control

D. undefined, because of the lack of concurrency control

Correct Answer: C

QUESTION 6

Identify three situations where Coherence is used (Choose three.)

A. to scale the amount of data accessed on the application or middleware tier
B. to offload shared services or databases on repeated reads

C. to accelerate complex RDBMS joins by storing data in memory
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D. to reduce database load by batching and coalescing writes
E. to perform map-reduce aggregations of unstructured data

Correct Answer: BDE

QUESTION 7

You are using Coherence to store state data that gets read frequently and updated only occasionally. Only 100 or so
clients are logged in at any time, and state data is retrieved at login. You are running out of physical memory on the
cache server tier, but CPU and network utilization is low. You have 100 GB Solid-State Drives on every system,
including clients. You would also like to provide faster access to state data for logged-in users.

Which configuration should you use for your system?

A. Configure Elastic Data on your clients with a near cache.

B. Configure a near cache on your client and a RAM Journal on your cache servers.

C. Configure a near cache on your client and a Flash Journal on your cache servers.

D. Because near caching does not work with Elastic Data, configure a near cache and an eviction policy on the cache
servers.

Correct Answer: C

QUESTION 8

Which action do you take when deploying Oracle HTTP Server to ensure all client communications within OHS are
confidential?

A. Deploy OHS in A DMZ.

B. Configure all OHS Listeners to use SSL.

C. Nothing; all client communications are confidential.
D. This configuration is not possible.

E. Use a network firewall.

Correct Answer: B

QUESTION 9
With which three tasks can JRockit Diagnostic Commands (JRCMD) be used? (Choose three.)
A. load testing

B. heap analysis
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C. native memory tracking

D. controlling JRockit Flight Recorder
E. debugging with breakpoints
Correct Answer: BCD

https://sourcevirtues.com/2012/06/21/jrockit-jrcmd-useful-commands/

QUESTION 10

Consider an application using a Coherence partitioned cache to store HTTP session data. There is a load balancer that
performs client based affinity (or "sticky load balancing"), meaning that requests that come from a particular user will be
routed to the same application server every time. Most user requests will read from the session, thus making near
caching topology a good fit.

Which near cache configuration matches the requirements for this application?

A. AUTO

B. NONE

C. ALL

D. PRESENT

Correct Answer: D

QUESTION 11

Which component is optimized for the JRockit VM?

A. swing-based desktop applications

B. browser-based applets

C. embedded devices

D. server-side applications

E. mobile phones

Correct Answer: D

The Oracle JRockit JDK includes the Oracle JRockit Java Virtual Machine (JVM), which is developed uniquely for server-

side applications and optimized for Intel architectures, ensuring reliability, scalability, and manageability for Java
applications.

QUESTION 12
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How many appliances can you deploy as part as an assembly?
A. only one

B. one to three

C. one to five

D. There is no predefined limit

Correct Answer: C

QUESTION 13

Which four actions can you perform by using features that are included in WLS management Pack EE? (Choose four.)
A. manage multiple domains centrally

B. perform in-depth JVM diagnostics

C. perform user-session diagnostics

D. trace transactions across multi-tier environments

E. perform disaster recovery operations

F. perform full session replay

Correct Answer: ABE

http://www.oracle.com/technetwork/oem/soa-mgmt/ds-em12c-wls-mgmt-pack-ee- 1552456.pdf(page 1)

QUESTION 14

With which WLS license is WLS Management Pack EE included?
A. WebLogic Suite

B. WebLogic Server Standard Edition

C. WebLogic Server Enterprise Edition

D. WebLogic Server EE or WebLogic Suite

E. WLS Management Pack is not included in any of the WLS packs

Correct Answer: C

QUESTION 15

Your data client query needs to produce a fast initial response.
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Which two approaches will optimize your query? (Choose two.)
A. Use a LimitFilter to limit the result set returned.

B. Use a near cache to cache results locally to be re-used.

C. Wrap the filter by using a PartitionFilter.

D. Re-order the filter criteria.

E. Access the keys first and then the values.

Correct Answer: BD
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